BER
S IEBRER
165/ 2,200H
BERE= (583,59)
[=! 22,000 M4
1B 3,300
BERE= (52,8)
[=! 33,000 M4

LS 11,000 H4

T 4IV— L[ 2F-218m

7—INV)b—I\ 4F-218m

1H 110,000 M

BiifEm
R71)—> 804 >F (120%160)
T—7Ib7 A1)
DVD7L—+—
Javvr—
RIAMR=F
AV NEHER)

X RIS IEERHARE T,
HERBEIE2BEULEOFAICEVET,
XRIGREBZHRBERBEDHIET,

MlEmFERE ABRERBENFTHNZESBOLEY,
XYHBFv U EILDBEIFTI00%DF v+ IV ETBEET,

‘HERERE REX

BrRElFS

3,300

33,000 M4

4,400 M4

44,000 M4

16,500 K4

165,000 M

e
3,300 [
660 [
1,100 /M
11,000
1,100 [

1,100 M

m £

E35REE 43m (135
AT — V304, B #1844

FIREER 50m (155F)
A7—JVER30%  %EIHARA]

E2REAE 66m (205F)
AT — V424 BHE244

FEEREE 66m (205F)
AT—IVHER48%  XEIHAA]

ZRDIBE 3055k~ 100% ke
REDIGE 5055k~ 120% 1k

AT =V 120% 8%
272 2008k

BERBIIRZFBICEENE T,
RAVIEIEREDSRIBRICEVET,
2BDBEIXRHEDREIIHIEEA.

RBEATaY

J—k—
1#FH L1385
TBE
MABREEIFSHERIGCE S



